
Имя: Ключ к правильным ответамРазложение неправильных дробей
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Ответы

об. 121⁄3

1. 175⁄9

2. 164⁄5

3. 81⁄2

4. 152⁄4

5. 194⁄10

6. 71⁄2

7. 163⁄4

8. 201⁄3

9. 163⁄7

10. 73⁄8

11. 113⁄4

12. 74⁄7

13. 71⁄2

14. 87⁄10

15. 82⁄3

16. 153⁄9

17. 131⁄2

18. 113⁄9

19. 41⁄8

20. 162⁄3

Разложите каждую неправильную дробь.

об)
6 19

3
= 121⁄3

1)
10 68

9
= 175⁄9

2)
9 39

5
= 164⁄5

3)
5 7

2
= 81⁄2

4)
8 30

4
= 152⁄4

5)
9 104

10
= 194⁄10

6)
3 9

2
= 71⁄2

7)
7 39

4
= 163⁄4

8)
10 31

3
= 201⁄3

9)
10 45

7
= 163⁄7

10)
2 43

8
= 73⁄8

11)
3 35

4
= 113⁄4

12)
4 25

7
= 74⁄7

13)
2 11

2
= 71⁄2

14)
6 27

10
= 87⁄10

15)
5 11

3
= 82⁄3

16)
7 75

9
= 153⁄9

17)
3 21

2
= 131⁄2

18)
5 57

9
= 113⁄9

19)
2 17

8
= 41⁄8

20)
8 26

3
= 162⁄3
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